EARAROBEEIERT — 2 N— IBISH —F

2017828118 (£) 2E=H5H

1R YAl

(ER) B

EZS

& ‘ [RERSE] — | & (&) 14000 &

[~E%] 1 7% :6,000,000 @ ~ 23 :2,400,000 @ ~ 37&:

1,500,000 /4 7 :900,000 @ 5 7& :600,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A5 #o3 | FEEZ 1:26.0 22 |37.2| 824 | 4 | 464 |FAHKE (FFR) )
1]5[10 4 56.0 - () |[H H Y qs 'k
L:ZAM)— bt BT T4 —F H—L—-Jv/X> - T7—LARS
Sy = SERER 126. - . . aETF (ER)
Av— gL |5 Py | e weme| 7| e \Te
RIVINATA—H— BAT—bF— v =e)
s . R — : = EHEE (EXR)
A4S amAAa R ks | e [wejms) 2 | w0 mEER
LxA4aoLvy B> 0F+—3 IVTSTT— L4
3 S 4 3 | RERS 1:26.6 1-1 37.975.9 | 8 472 | FEETES (RR)
A =lvysF= 56.0 (3 1/2) ) (%) KEEA—ZXU757
g/ w714 BIN=-F K= AL
- = R PIEEHER 1:26.7 -1 9| 76.1 FHE (ER)
TTaTbyerX R <76t“> M ° (530) (&) 4—7 - Kb
RF4—TTUVILT BTFaAIUT FHhI)Tr—1
3 — 3 | AKX 1:27.1 4-6 38.0| 71.7 | 5 472 | REREX (RR)
6l1l2|¥¥I=2TKILEb " 56.0 @ 1/2) () (};)5.;_»
L:ZARM)— bt B:TF477=Z—H1R T HiE
s . 43 | AEEN 1:27.2 6-3 37.8| 71.3| 3 504 | BFIEZ (FH)
715/9| TT>¥>ATU—L 5.0 (172) (o) | ) s
R:YIRG4T952 B:1->TU—-% ES 2]
0S5 & A # 3 | JIBfE= 1:27. 6-7 37.7| 715 | 10 | 524 |FEZ (BR)
glglte| /NTHARL YT 56.0 (5¢) R e A4
R:7A7% BNSEARAZET (A) HA3-KL—ra>aEr7r
S B3 | EEMER 1:27.3 11-11 | 36.5| 70.7 | 9 490 | =iERZ (3ER)
9 S 54.0 (1/2) (=) () e
L:772V17 B:I-Y2HhYU—F AEHS
—s # 3 | K& 1:27.4 3-3 38.4| 68.6 | 1 514 | ARENT (RR)
10/815| b7~ L=~ 5.0 (172 Oy | ) AL 2A-x
R4 T RT—IEY B AFTY— HET7—L4
S . B3| AVRTEGR 1:28.0 8-7 38.4] 64.0 | 16 | 462 |#ZILEER (R®)
1| 7[13] AXH71 =27 54.0 (3 1/2) o | A
RRXATIZY IR BiHLYAL L~ Bl e
= = ERHN : = = (BER)
| m--~355L2 4 3 e 1.(258).8 12-12 | 37.7| 57.1 | 14 (456) ihE
VLR YIYRIR Biurra L INY— YA T4
QI 3 | A*IOAM 1:29.0 15-14 | 36.0 | 55.4 | 11 | 506 |HERRlME (=)
13 8 AZXHTIVYT A53.0 (1 1/4) (=) KRR
AANZRTIVYG BinFIIL ZRE7 7 — L
st # 3 | BE® 1:30.2 14-14 | 37.7| 44.6 | 12 | 480 |HIAE (=)
1411 | RKFH 6.0 M o) |EBEX
R:A—I XA A4 B:5dvYa—L AL
“ < e BERK :30. ~ . . BREBFIZ (ER)
15 AR EEE D2t i 3 s 1 (340)9 13-13 | 39.5| 41.2 | 15 (430) e
R:R—N—F—Fy b B FxOLK HESA T2 T Tr— L
5 # 3 | ENEE 1:32.5 16-16 39.0 | 27.4 | 13 452 | BEEB— (BR)
16/ 714 JAI7A—x%x 54.0 (10) (=) HHER%
R:xF21=G7—X B:ATrLRIA—> HET7—L
@ 71 L
) 49.5-37.3
NA>ZA L | 12.7-11.5-12.3-12.2-12.6-12.2-12.5
® I —F—@EBIERL
13—F—
230—7F—
Gol=5r= (x6,10)15(2,12) (16,9)13(7,5)=3-11,4=1-8-14
40—+— (¥6,10) (15,12,9)2(13,16,5)-7-3-11-4=(1,8)=14
[ N3
B O 10 970M 714K 5-10 1,820H e E 3-5 1,530 RPEL ) 5-10-12 9,740M
8 B 10 260/ 10-12 780M B = 5-10 8,210 B 10-5-12 84,500/
5 400 5-12 1,250 B H 10-5 15,940
12 160/

ABICOVWTRDTEEERROODE. TR LIV,




